
 34 

����� 3 

��	�
��
����������� 

�����	
���

���
���������	
����������� (descriptive research) �#$%&'(�)�#*+����,�-&��
�
.��/���,0
�123�+45� 62/�7		
�8�%4�,��98:����#*+����,�-&��
�.��/���,0
�123�+45�;&�
4+��<8�,=42�,�2=>,�4�%��+>&����������,0
�123�+45� <0?6�> ����
��5?1&��4�4�%��+>&.��/���,0
�
123�+45� ����
��5?���,�=�6��;&�.��/���,0
�123�+45� ����
��5?.��/�=���,;&�.��/���,0
�
123�+45� ����
��5?���,����<�<0?;&�����@��
+�#*+����,�-&��
�.��/���,0
�123�+45� ���8
0
A��3�$&�>����,�
B�C��,&�42�, ��/�
+�����	D��E��;&�4,����F���&���
� ���<0?�
�
�:�6�/�:����%���
�����-&��
�.��/���,0
�123�+45� 10�,����2/�&��0���%���
���C�0:����������	
�
0
���
 

������������	
��
���
�� 

��/������-�3,��8�%F�?F����'(�)���

���
  �$& 4+��<8�,=42�,8�%,�&��= 40 �H;(
�<�,�
.5,�2:����&�5>F�+:��2���	�/ &:��.&���	�/ 	
�3�
0���C���4 (�2=>,�������@��
+���&���
�62/
�=,�� 1��#����2���	�/, 2549) 
 �2=>,+
�&�>���$& 4+��<8�,=42�,8�%,�&��= 40 �H;(
�<� 	:���� 131 �� N5?��	
�<0?�2$&��2=>,
+
�&�>��10��:�3�0�=O4,�
+�+�,��OPQ+>&<���
 

1. ����4+��<8�,=42�,8�%,�&��= 40 �H;(
�<�&�'
�&�5>F�+:��2���	�/ &:��.&���	�/ 	
�3�
0
���C���4 

2. �
:�3�
�+
�����,�+�A��10�,��>�0
���,�2���,����>� 24.9 ��12��
,+>&+�����,+� 
3. <,>���<0?�
��������	S
��>�����1�����,0
�123�+45�  
4. �/0
����,0
�123�+<,>���� 140/90 ,�22��,+���&8 
����:�3�0;��0�2=>,+
�&�>���:�3�0	������:���O0?��45+�������/3Q&:���	��� 

804&�49�+8�%'(�)� (Power Analysis) ;&�1��\� (Cohen, 1988) �:�3�0�/0
����,��$%&,
%� 95% 

(α = .05) 62/&:���	���804&� (power of test : 1-β) 8�% .80 �>�,�
����F�?�>�4
,��/4�8C�d���
+
04��F	#3= (multiple coefficient of determination: R2) �����>�8�%	/�>��&��>�+
�6��&�4�/�>�,�
�
&C�������,N
�6��;&�+
�6��+�,<0?�8>�<� F������	
���

���
<0?�:�3�0;��0N2���	
0��/8:�
8�������	
� (effect size: f2) �8>��
� .11 ��$%&�	��N2���'(�)�;&�4=	�+�� (2549) 8�%'(�)��7		
�8�%,�
&�8C�#2+>&#*+����,����-&��
�1��3
�F	62/32&0�2$&0;&�4+��<8�,=42�,�
�3,0��/	:��0$&� 
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i(%�,���&�6����08�%'(�)��2?���2(��
����'(�)�F���

���
 10�#��>�6��	5�F	0?��4=;.�# 62/���
�
��5?&=�4���;&�����@��
+�#*+����,����-&��
�1��4�,��9�>�,�
�8:����#*+����,���
�-&��
�1��3
�F	62/32&0�2$&0;&�4+��<8�,=42�,�
�3,0��/	:��0$&�<0?�?&�2/ 10 (R2 = .10) 
62/�,$%&�:�,�68��>�+�,45+�  

 
f2 =  R2 
                 1-R2 
<0?�>� f2   = 0.11 

i(%������>�;��0N2���	
0��/8:�8�������	
�F��/0
�����2�� (Cohen, 1988) 32
�	���

��:��>� f2  

3�;��0�2=>,+
�&�>��	��45+� 

N =     λ     

     f2            

N   3,��9(�       	:�����2=>,+
�&�>�� 

λ  3,��9(�   �>�&:���	���804&��/0
� 95 % 8�%�/0
��
�4:��
k�8>��
� .05 10����
��l0+�����������8��� 
 f2 3,��9(�       �>�;��0N2���	
0��/8:�8�������	
� 

10������	
���

�,�	:����+
�6��&�4�/8�%'(�)�8

�3,0 7 +
�6�� ��
 	(�<0?�>�&:���	���804&� (λ) 
�8>��
� 14.4  �,$%&�:�,�68��>�F�45+� 	(�<0?;��0�2=>,+
�&�>�� 0
���
 

              N = 14.4 
                  0.11 

                   =   131 �� 

������������������������������������� 

 ���$%&�,$&8�%F�?F������D������,;?&,52����6��4&�9�, ��/�&�0?�� 4 4>�� 0
���
 
4>��8�% 1 6��4&�9�,2
�)O/4>���=��2;&�N5?+&�6��4&�9�,8�%N5?��	
�4�?��;(
� 	:���� 

13 ;?& ��/�&�0?�� &��= 49��.�#4,�4 �/0
����'(�)� &���# ���<0? �
:�3�
� 4>��45� �>�0
���
,�2��� �/0
����,0
�123�++
��� �/0
����,0
�123�++
�2>�� ��/�
+�����	D��E��;&�4,����F�
��&���
� 0?��.��/���,0
�123�+45� ��/4����OQF����0562��F���&���
�3�$&��F�2?��08�%
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�������,0
�123�+45� ���<0?�
��:�6�/�:����%���
�����-&��
�.��/���,0
�123�+45� 62/���
+��	�>�������/	:��H 

4>��8�% 2 6��4&�9�,�7		
��>�,0?��'�4��8�%N5?��	
�4�?��;(
�	�����8�8�����O���,8�%
���%���
�'�4��&�42�,i(%�����;?&�:�9�,���%���
����8
0A��3�$&�>����,�
B�C��,&�42�, 	:���� 
12 ;?& �:�+&�����,�+��4>����/,�O�>� (rating scale) 4 �/0
� 0
���
  
�3D�0?��&�>����%�       3,��9(�   �:�+&��

�+���
����,�5?4(�;&�N5?+&�,��8�%4=0 
�3D�0?��  3,��9(�   �:�+&��

�+���
����,�5?4(�;&�N5?+&�,�� 
<,>�3D�0?��                3,��9(�   �:�+&��

�<,>+���
����,�5?4(�;&�N5?+&�,�� 
<,>�3D�0?��&�>����%� 3,��9(�   �:�+&��

�<,>+���
����,�5?4(�;&�N5?+&�,��8�%4=0 
�:�3�0�>��/6��;&��/0
����,��0�3D�/���,�5?4(�F�6+>2/;?&�:�9�,0
���
 

�3D�0?��&�>����%�        4     �/6�� 
�3D�0?��                     3     �/6�� 
<,>�3D�0?��               2     �/6�� 
<,>�3D�0?��&�>����%�   1     �/6��   

���6�2N2�>��/6���7		
��>�,10���,#�	��O�	���>��S2�%�;&��/6��6��4&�9�,
10���,;&��2=>,+
�&�>��10�6�>��/0
�����
��5? ���� 4 �/0
�0?����C��:�3�0&
�+�.���

�             
�:��/6��45�4=02�0?���/6��+%:�4=03��0?��	:�����

�8�%+?&���� (�5'��, 2546) 62/�:�3�0          
�>���/6��0
���
 

�/6���S2�%� �/0
�����
��5? 
1.00-1.75 +%:� 
1.76-2.50 ����2�� 
2.51-3.25 45� 
3.26-4.00 45�,�� 

4>��8�% 3 6��4&�9�,�7		
�0?������
��5?;&��=��2 62/�7		
�8�%,�N2+>&���,����<�<0?
;&�����@��
+�#*+����,�-&��
�8�%N5?��	
�4�?��;(
�	����&�6����06��	:�2&����,��$%&0?��
4=;.�#;&�6	�iQ62/�����&�Q (Janz & Becker, 1984) i(%���/�&�0?��;?&�:�9�, 4 0?�� 	:���� 
44 ;?& ����0
���
 

1. 0?������
��5?1&��4�4�%��+>&.��/���,0
�123�+45�     	:���� 10 ;?& <0?6�>�:�9�,;?&  1-10  
2. 0?������
��5?���,�=�6��;&�.��/���,0
�123�+45�  	:���� 15 ;?& <0?6�>�:�9�,;?& 11-25 
3. 0?������
��5?.��/�=���,;&�.��/���,0
�123�+45�  	:����   6 ;?& <0?6�>�:�9�,;?& 26-31 
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               4.0?������
��5?���,����<�<0?;&�����@��
+�#*+����,  	:���� 13 ;?& <0?6�>�:�9�,;?& 32-44 
                  �-&��
�.��/���,0
�123�+45�  

2
�)O/;?&�:�9�,�����:�9�,8�����62/�:�9�,8��2� ;?&�:�9�,8����� �$& ����
��5?
1&��4�4�%��+>&.��/���,0
�123�+45� ����
��5?���,�=�6��;&�.��/���,0
�123�+45� ����
��5?
.��/�=���,;&�.��/���,0
�123�+45� ����
��5?���,����<�<0?;&�����@��
+�#*+����,�-&��
�
.��/���,0
�123�+45� 4>��;?&�:�9�,8��2� �$& ����
��5?.��/�=���, 2 ;?& (;?& 30 62/ 31) 

2
�)O/�:�+&�����,�+��4>����/,�O�>� (rating scale) 4 �/0
� 0
���
  
�3D�0?��&�>����%� 3,��9(�   �:�+&��

�+���
����,�5?4(�;&�N5?+&�,��8�%4=0 
�3D�0?��  3,��9(�   �:�+&��

�+���
����,�5?4(�;&�N5?+&�,�� 
<,>�3D�0?�� 3,��9(�   �:�+&��

�<,>+���
����,�5?4(�;&�N5?+&�,�� 
<,>�3D�0?��&�>����%� 3,��9(�   �:�+&��

�<,>+���
����,�5?4(�;&�N5?+&�,��8�%4=0 
�:�3�0�>��/6���/0
����,��0�3D�/���,�5?4(�F�6+>2/;?&�:�9�,0
���
 

;?&�:�9�,8����� ;?&�:�9�,8��2� 
�3D�0?��&�>����%� 4  �/6�� �3D�0?��&�>����%� 1  �/6�� 
�3D�0?�� 3  �/6�� �3D�0?�� 2  �/6�� 
<,>�3D�0?�� 2  �/6�� <,>�3D�0?�� 3  �/6�� 
<,>�3D�0?��&�>����%� 1  �/6�� <,>�3D�0?��&�>����%�   4  �/6�� 

���6�2N2�>��/6���7		
�0?������
��5?;&��=��2 62/�7		
�8�%,�N2+>&���,����<�<0?
;&�����@��
+�#*+����,�-&��
�10���,62/���0?��#�	��O�	���>� �S2�%�;&��/6��
6��4&�9�,8

����0?��62/10���,;&��2=>,+
�&�>��10��:�3�0�/6������ 4 �/0
�0?����C��:�3�0
&
�+�.���

��:��/6��45�4=02�0?���/6��+%:�4=03��0?��	:�����

�8�%+?&���� (�5'��, 2546) 62/
�:�3�0�>���/6��0
���
 

�/6���S2�%� �/0
�����
��5? 
1.00-1.75 +%:� 
1.76-2.50 ����2�� 
2.51-3.25 45� 
3.26-4.00 45�,�� 

4>��8�% 4 6��4&�9�,����@��
+�#*+����,�-&��
�8�%N5?��	
�4�?��;(
�	�����8�8��
�&�4�� +:��� 62/�����	
�8�%���%��;?&��
�.��/���,0
�123�+45� i(%���/�&�0?��;?&�:�9�, 5 0?��
	:���� 23 ;?& ����0
���
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1. 0?���������=,�
:�3�
�+
� 	:���� 3 ;?& <0?6�>�:�9�,;?&  1-3 
2.0?��#*+����,����
���/8��&�3�� 	:���� 6 ;?& <0?6�>�:�9�,;?&  4-9 
3. 0?�����&&��:�2
���� 	:���� 4 ;?& <0?6�>�:�9�,;?&10-13 
4. 0?�����N>&��2�����,�����0 	:���� 6 ;?& <0?6�>�:�9�,;?&14-19 
5. 0?�����20#*+����,8�%�����7		
��4�%�� 	:���� 4 ;?& <0?6�>�:�9�,;?&20-23 

2
�)O/;?&�:�9�,�����:�9�,8�����62/�:�9�,8��2� ;?&�:�9�,8����� �$& 0?��      
�������=,�
:�3�
�+
� (;?&1-3) 0?�����&&��:�2
���� (;?& 10-12) 0?�����N>&��2�����,�����0 
(;?&14-19) 4>��;?&�:�9�,8��2� �$& 0?��#*+����,����
���/8��&�3�� (;?& 4-9) 0?�����     
&&��:�2
���� (;?& 13) 62/0?�����20#*+����,8�%�����7		
��4�%�� (;?& 20-23) 

2
�)O/�:�+&�����,�+��4>����/,�O�>� (rating scale) 4 �/0
� 0
���
 
�@��
+�������/	:� 3,��9(� �@��
+���	���,�

�8=��
�F� 1 4
�0�3Q 
�@��
+��>&���

� 3,��9(� �@��
+���	���,�

�4
�0�3Q2/ 4-6 �
� 
�@��
+����������

� 3,��9(� �@��
+���	���,�

�4
�0�3Q2/ 1-3 �
�  
<,>����@��
+� 3,��9(� ����@��
+���	���,�

��2�F� 1 4
�0�3Q 
�:�3�0�>��/6���/0
�����@��
+�#*+����,6+>2/;?&�:�9�,0
���
 

;?&�:�9�,8�����       ;?&�:�9�,8��2� 
�@��
+�������/	:� 4  �/6�� �@��
+�������/	:� 1  �/6�� 
�@��
+��>&���

� 3  �/6�� �@��
+��>&���

� 2  �/6�� 
�@��
+����������

� 2  �/6�� �@��
+����������

� 3  �/6�� 
<,>����@��
+� 1  �/6�� <,>����@��
+� 4  �/6�� 

���6�2N2�>��/6��;&�����@��
+�#*+����,�-&��
�10���,62/���0?��#�	��O�	��
�>��S2�%�;&��/6��6��4&�9�,8

����0?�� 62/10���,;&��2=>,+
�&�>��10��:�3�0�/6������ 
4 �/0
� 0?����C��:�3�0&
�+�.���

� �:��/6��45�4=02�0?���/6��+%:�4=03��0?��	:�����

�8�%
+?&���� (�5'��, 2546) 62/�:�3�0�>���/6��0
���
 

�/6���S2�%� �/0
�����@��
+�#*+����,�-&��
� 
1.00-1.75 +%:� 
1.76-2.50            ����2�� 
2.51-3.25 45� 
3.26-4.00       45�,�� 
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������ !���	"#�$���������� 

 ������ !���������������%�&� (content validity) 

 N5?��	
��:�6��4&�9�,8�%4�?��;(
�<�+��	4&����,+��+�,��$
&3� (content validity) 10�
N5?8���=O�=B� 5 8>�� ��/�&�0?�� &�	���Q#����2N5?���%����k���#����2N5?F3k>62/N5?45�&��=
&�	���Q#����2N5?���%����k6��	:�2&����,��$%&0?��4=;.�# ���6#8�QN5?���%����k0?��&��=�'�4+�Q
1���/��<32�����62/32&0�2$&0 &�	���QN5?���%����k0?��32
�'�4��&�42�, 62/#����2
������#N5?���8'���1��<,>+�0+>&F��=,�� 32
�	��N5?8���=O�=B�8

�3,0#�	��O�62?� N5?��	
��:�
6��4&�9�,,���
���=�6�?<;+�,;?&��0�3D�62/;?&�4�&6�/;&�N5?8���=O�=B�62?��:�<�802&�
F�?�
���/����8�%,�2
�)O/�2?���2=>,+
�&�>��62/�:�<�3��>����,�8�%�� 

������ !�������������������������  

N5?��	
��:�6��4&�9�,�7		
��>�,0?��'�4�� 6��4&�9�,�7		
�0?������
��5?;&��=��2 
�7		
�8�%,�N2+>&���,����<�<0?;&�����@��
+�#*+����,�-&��
� 62/6��4&�9�,#*+����,
�-&��
�.��/���,0
�123�+45�;&�4+��<8�,=42�,�2=>,�4�%��+>&����������,0
�123�+45�8�%<0?�
�
�����
���=�62?�<�802&�F�?�
���/����8�%,�2
�)O/�2?���2(��
��2=>,+
�&�>��8�%+?&����'(�)�
	:���� 20 ��� 62/�:�,��:���O3����,�>��8�%�� (reliability) 	�����,4&0�2?&�.��F� (internal 
consistency) 10�����:���O3��>�4
,��/4�8C�d&
2uE�;&���&���� (Cronbach,s alpha coefficient) <0?
�>����,�8�%��;&����$%&�,$&6��4&�9�,�7		
��>�,0?��'�4�� �8>��
� 0.76 6��4&�9�,�7		
�0?��
����
��
��5?;&��=��2 62/�7		
�8�%,�N2+>&���,����<�<0?;&�����@��
+�#*+����,�-&��
�.��/
���,0
�123�+45� �8>��
� 0.95 62/6��4&�9�,#*+����,�-&��
�.��/���,0
�123�+45�;&�
4+��<8�,=42�,�2=>,�4�%��+>&����������,0
�123�+45� �8>��
� 0.73 32
�	���

�N5?��	
�	(��:�
6��4&�9�,0
��2>��<�F�?F������D������,;?&,52�����	
�+>&<� 

���$4�
�56!4�74��	
��
���
�� 

 �,$%&N5?��	
�#��2=>,+
�&�>�� N5?��	
�<0?6�/�:�+
� ��
6	��
+9=��/4��QF����8:���	
� ;&���,
�>�,,$&F������D�;?&,52 10���
6	�F3?�2=>,+
�&�>��8���9(�4�8C�8�%	/+&��
�3�$&�@��4C����;?��>�,
��	
� 62/F��/3�>������;?��>�,��	
��2=>,+
�&�>��4�,��99&�+
�	������;?��>�,��	
�<0?+2&0��2� 
i(%�	/<,>,�N2��/8�F0v ��,9(���
6	�F3?8����>�;?&,528�%<0?,�	���2=>,+
�&�>��	/<0?�
�������l0
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�������,2
� 10����2��3
4<,>�&��$%&-4�=2 62/	/�:��4�&F�.�#��,�S#�/�����	
���

���

�8>��

� �,$%&�2=>,+
�&�>�����0��;?��>�,��	
� 	���

�N5?��	
�	(����%,8:������D�;?&,52 

������������������� 

 N5?��	
�0:����������D������,;?&,52	����/����4+��<8�,=42�,8�%,�&��=+

�6+> 40 �H;(
�<�
+�,��OPQ8�%�:�3�0<�? 10�,�;

�+&������D������,;?&,520
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